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101|R#A7 L 313 160 153| Kg |&)I 1,404 140| £ 4,320 540
102|357 L 1,871 1,871 Kg BIE 1,566 800
111|&EEF £ 1,445 96| 1,349 Kg |EREEB 1,080 162|B40 1,782 216
113|RAV S 93 7 86| Kg |EE 1,728 325|fE 3,240 612
114|B5EFE 193 190 Kg |&)I 1,080 E)Il - & 4,212 1,944
117[14 % 116 43 73| Kg |EE 864 11|&8E 3,780 432
121{hblE € 47 23 24| Kg |EE 1,620 10| 1,944 215
134[#= 455 207 248| Kg |®NI - = 2,300 1,200 £ 2,484 1,404
137|&5E3.< 173 119 54| Kg |BE 3,564 1,188| & 4,644 3,564
140(5 I 14 14| Kg b 34,200 24,840
147|E2 O 70 70| Kg |EE 6,480 B - RIE 8,000 3,564
168|BIEH AL H 340 55 285 Kg |#&B 1,620 324|% 1| 2,322 1,080
201|{Lb L 516 516| Kg A - BER 576 300
203|/hé L 118 118 Kg = 459 54
206| = 1F 817 817| Kg KI5 1,080 324
207|= A K 1,070 1,070| Kg JimE 2,430 594
208| Mo % 637 637| Kg R 1,620 216
210{1F AL 88 88 Ke |EI% 7,020 2,700
212|&5E.3 Y 653 653| Kg E - BB 2,214 1,100
222|052 186 186 Kg BER 432 108
251|< B %<3 343 343 Kg |5 3,056 1,955
254|E b ECH 769 769| Kg =l 2,700 1,166
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305[£Aah 0 149 149 Kg =9E 5,184 1,080
306|L e k) 2 2 Kg |&/&E 540

315|7: B9 6 43 43| Kg = I 3,780 1,512
319|2h o 501 77 4241 Kg |EE 2,160 432\ KRR - &&= 2,376 459
332|= 13 WA =EF 231 231 Kg Bl = 1,944 1,728
3bl{HHV 25 5 20| Kg [3&E 3,240 FE 4,158 3,672
35411FxE<Y 90 45 45| Kg |FFE 1,728 1512|F% 1,836 1,134
355(mp Y 95 10 85| Kg [FE 648 M - P E 1,728 600
356(L L& 54 541 Kg SER 1,512 864
357|7RE 57 571 Kg = 4,104 1,080
358|KE 10 10 Kg |ZA0 1,944 1,836

362| & 313 313] Kg INZ 4,320 1,080
401|H W 38 20 18| Kg |[|IXE 972 702l & 2,484 2,376
4025 5 &E 5 5] Kg A0 5,616
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BERbBAZLD 27 271 Kg 2P 1,232
AN 20 201 Kg i 1,150

AERAT AT 160 160] Kg EE - BMA 6,480 1,080
ARTEZL 138 138] Kg E2p] 1,620 1,242
JE WA AE 20 201 Kg Bl = 1,050 950
iy} 20 20 Kg i 972

Jarys: e 174 1741  Kg 2P 3,857 700
B 34 34 Kg i 4,000 3,200
BRI 75 75| Kg Bl = 1,080
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70110 BA 597 212 385 Kg |EE 3,389 2,543| k&= 4,320 1,512
704\ LETF 7 71 Kg FiE 2,808
705(7/=2< Y 301 301 Kg Ko 3,348
709|Lb LALF 8 8| Kg BRS 1,004
710(2 20T 50 501 Kg Ko 1,260 783
755(Fd L 29 291 Kg B 741 585
56| £ 9 101 101 Kg Ko 1,080
7611 b BHAEL 12 12 Kg EE 2,469 2,160
763| Z AMC 26 26 Kg |&&E 4,080 3,317
801 [IEAL = 1S 206 206 Kg tmE - mA 2,268 1,188
805 = 1E 1,499 1,499 Kg bF 1,145 594
80718 H D F 120 1201 Kg biF 10,152 3,240
810|FAKF 340 3401 Kg bF 4,569 2,052
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